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= 0ff &F 400,000 485,000 A 85,000
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ODtSotAtMAIE 2 (IHEH L )E XIS AL
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T2 WS M 12,351 11,654 697
101 o244l 12,351 11,654 697
04 JIZtHZZ2NSE= 12,351 11,654 697
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OnssE XA o1 AHHI 12,351
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(@F4dx]:]] 2,000 *37M A~ +x1L +x6H 444
T2 HAZ 3yl 70,000 70,000 0
401 AI&BIZ =208 70,000 70,000 0
01 Al&HI 70,000 70,000 0
= 0l &F 70,000 70,000 0
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S 23U I LAY 45,000 45,000 0
201  LEt2 49| 45,000 0 45,000
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= 0l & 45,000 0 45,000
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401 AI&BIZ =208l 100,000 100,000 0
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FEws HotE 740,000 0 740,000
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OAE W MIIE (20198 EEXAHWE
= Atg) 740,000
Odlsten AN MHIOIIE S A 100,000
OFREW S0 MILE Z2A 320,000
OFE21 AN MMIEZ A 320,000
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Oz EXNBAH(Z20IS, YatotS
X2, 2II~EHH2, AXOE 5) 530,000
OZZ178H (BHOIIS)E2 SFEZH2A 400,000
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OAl &=t 5,000
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401 AlEHIL S 600, 000 530,000 70,000
01 Al 600,000 530,000 70,000
=0 4 600, 000 530,000 70,000
OZE KX 2l A 600, 000
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OZE854 9 2HA HHALSHXZ
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Ab(L=5km) 260,000
EC2 A 2,736,000 1,756,000 980,000
HEZ2AY 2,136,000 1,156,000 980,000
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01 Al 2,130,000 1,150,000 980,000
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OEX 24|
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OEE2(H202) 200,000
00l 2102 (3 350,000
03 Al&= Ol 6,000 6,000 0
=0 & 6,000 6,000 0
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HEl0IES2H A A& 300,000 110,000 190,000
401  AlEHIZL 2014 300,000 110,000 190,000
01 Al&H| 300,000 110,000 190,000
= 0l & 300,000 110,000 190,000
ONE0IEsY S 2eAg 300,000
LOoIBS3YA JHHEANSE(EX) 110,000 0 110,000
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= 55,000
401 AlEHIL20iH] 110,000 0 110,000
== 55,000
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01 Al&H| 110,000 0 110,000
== 55,000
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== 55,000
= 55,000
OLESIY INEAMY 110,000
Oogds UE d32¢ 110,000
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rax 230,000
= 230,000
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OINHEANEFH SHEH LM 460,000
s 230,000
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= 6,000
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01 At 2eltl 2,000 2,000 0
= Ol &F 2,000 2,000 0
QIJt= HE8X =Y KXot =E I A 2,000
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